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ARGUMENT BUILDER

OVERALL POSITION

The view | am arguing for is...

Publicuniversitiesn the United Statesshouldbefree.

” &

My ARGUMENTATIVE CLAIMS are the REASONS my overall position is true. They are:

1. Collegeis currently 2, Excludingpeoplefrom-college 3. Producingmorecollege————
H-na#epela-ble‘-epmany— isundemocratiand — graduatedmprovesthe
un-American Americaneconomy

EVIDENCE to BACK-UP my claims:

1. Accordingto the Higher 2. Collegecounselorandguides 3. TheU.S. Departmenbf
EducationChronicle(May, almostall saythatthevast Educationproduceda reportin
2015),theaveragecostof a majority of well-payingjobsin 2014thatshowsthatcollege
public universityis $30,000 the United Statesequireat graduategarnmorethanfive
peryear. Collegecostsare leasta collegedegree. timeswhatnoncollegegraduates
rising at 10X therateof earn,onaverage.
inflation.

REASONING explains in my own words how the evidence proves that my
argumentative claim is true:

1. This dataclearlyshowsthat 2. Sincemostprofessionahnd 3. Themuchhigherincomeghat

higher-payingandimportant collegegraduategarnhelps
college .Further.minority and jobsrequirea collegedegree, grow theeconomysincethese
low-incomestudentaremore thereis no equalopportunity peoplehavesomuchmoreto
likely to bekeptout. without equalaccesgo spendon otherbusinessestc.

college. Plustheyareableto bemore

innovativeandinventive.
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